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Chapter —1. HUMAN GEOGRAPHY NATURE AND SCOPE

TYPE OF
QUESTION % OF
QUES (REASONING CORRECT STUDENTS
/mca/ UESTION OPTION PROVIDED EXPLANATION
NO MATRIX / Q OPTION ATTEMPTED
GRID / OTHER CORRECTLY
)
a) Ratzel the concept of
Who gave the concept of neo-determinism or stop-and-go b) E. Sample neo-determinism or
01 MCQ & P determinism? P & c) Griffith Taylor C stop-and-go determinism
’ d) Blache was given by Griffith
Taylor.
Samples of rocky
a) Details of travellers materials from the
. o - . b) Ancient maps
?
02 MCQ Which one of the following is not a source of geographical information? ¢) Samples of rocky materials from the moon (o moon
d) Ancient epics
Assertion (A) : Technology indicates the level of cultural a) Both A and R are true and R is the correct a) Both Aand R are
03 R&A development of a society. explanation of A. a true and R is the

Reason (R) : Technology developed only after man developed a
better understanding of natural laws.

b) Both A and R are true but R is not the correct
explanation of A.

correct explanation of
A.




c) Ais true but R is false.
d) A is false but R is true.

a) Regional Variation
b) Quantitative Revolution

b) Quantitative

. . 5 .
04 MCQ Which one of the following is not an approach to human geography? ¢) Spatial organization Revolution
d) Exploration and description
a) Sino-Tibetan
05 MCQ Which one of the following is the largest linguistic group in India? b) Austric No need' of
¢) Indo-Aryan explanation
d) Dravidian
a) Those who work less than 183 days in a year. a) Those who work
) b) Those who work more than 183 days in a year. less than 183 days in a
06 MCQ | Who are called marginal workers? year
¢) Those who are unemployed workers. )
d) Those who are engaged in the agricultural sector.
E; ?831382)11 1961-1971 decade
07 McQ Which decade had the highest decadal growth? c) 1981-1991 had the highest
d) 1961-1971 decadal growth
a) Highest population — Uttar Pradesh c) Highest density —
. . b) Lowest population — Sikkim West Bengal
?
08 MCQ Which of the following is not correctly matched? ¢) Highest density — West Bengal
d) Lowest density — Arunachal Pradesh
a) 1901-11
; : b) 1911-21 b) 1911-21
?
9 MCQ Which decade has negative decadal growth? ¢) 1921-31
d) 1941-51
a) Anthropology Behavioral geography is
10 MCQ Behavioral geography is associated with which subject of social science? b) Welfare economics associated with

c) Psychology
d) Sociology

Psychology subject of
social science




